Vin:=800 V Poutmazx:=10 W
Vinmaz:=857 V fsw:=130 kHz
Vinmin:=400 V

Vout:=12' V D:=0.2
Voutmin:=Vout —8%-Vout=11.04 V 1n:=80%
Voutmax:=Vout+8%-Vout=12.96 V Potiiag (:=0.16 T
Vd:=05V Tout:=———=0.833 A
V=300 V Viout
Vddoff:=8.5V Vddon:=22V Irun:=2.1 mA
Vinrun:=Vinmin Tvslrun =220 pA
Istart:=1 pA
Veer:=300 mV Vusr:=4.05V
Lp:=8 mH Ls:=0.008 mH Ipeak:=0.155 A  Vocv:=Vout
Auxiliary Winding: Np:=80 Ns:=Np-0.042
Vddmin:=22 'V Vddmax:=25V
Namin =/ 39mn-Ns__ ¢ 106
Voutmin+Vd Na:=7
Namag = 39maTNs__; o0
Voutmin+Vd
N
Nas=2% 2,083 Nap:=—2-0.088 La:=Ls-(Nas)® =34.722 uH
Ns Np
1
Voltage Sense Npa:= 260
Nap
Rt VIINZ o0 oso ko Rs2:= fisl - pogr =41.434 k2
Npa - Ivslrun Nas- (Vocv + Vd) —Vwsr
Vocv=12V
Vusr=4.05V

Current Sense
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=2.722 kN2



Vdd

(Irun+1 mA)- 3O°”FI' Vc;utmm
ou

Cdd:= =98.565 nF
Vddon—Vddoff—1V

\/E - Vinman
Vddon-Cdd
500 us

Rstr:= =130.406 k1?2

Istart +



